Kettenau fg ab en Variante 6 Klasse: Datum:

mit Grundrechenarten Ubungsblatt 3 Name:

A 2'+'10:'5 .18 19 = b) 10 _"15'." 2 1 3 +18'=
© 4 11 +14: 7 -'13 = d 10':'6 +11 - 2 -4 =
A 18+11 -2 - 9 : 6 = b) 47 "2 '+'15 . 3 : 5 '=
© 7'.'5 '+ 2'-'18: 3 = d 990':'g4 +17 -3 . 7 =
a 90'+12-16: 8 - 9 = b) 137 +'18:' 9 .17 =
© 4'.'10-16+6 : 2 = d 90'-'15:' 5 . 4 +18=
8 10':' 2 5+ 3 .16 = b) 19+ 3 .9 -'10: 2 =
© 11'-'10- 2 :' 5 +16 = d "4 '.'5 15 : 3 +19'=
3 0+ 6 : 3 -2 -10= b) 18': 2+ 9 . 3 -12'=
©) 13+ 8 -6 :112- 4 = d "g'_"16: 4 +19 - 2 =
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Kettenaufgaben
mit Grundrechenarten

Variante 6

Ubungsblatt 3

a)

2 +10 ¢ 5

4 - 11 +14 ¢ 7 — 13 =|33

188 +11 -2 - 9 6 =26
7 5 + 2 -18 3 =(31
20 + 12 - 16 : 8 9 =14
4 10 - 16 + 6 2 =27
12 : 2 - 5 + 3 - 16 =49
11 - 10 - 2 5 + 16 =23
20+ 6 ¢+ 3 — 2 - 10 =2
13+ 8 - 6 12 — 4 =13

- 18 - 19

19

b)

d)

b)

d)

b)

d)

b)

d)

b)

d)

12

12 :

17

20 :

13

20

19

18 :

- 15 - 2 3 + 18
6 +11 - 2 — 4
- 2 +t15 - 3 5
4 + 17 - 3 7
-7 +t18 : 9 - 17
- 15 ¢ 5 4 + 18
+ 3 9 -10 ¢ 2
5 —-15 ¢ 3 + 19
2 +9 - 3 —-12
-16 ¢ 4 +19 - 2

20

20

24

40

26

41

34

24

42
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